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Final make-up exam

· The final make-up exams are organized by AOTU (international) for the graduating students only.
· The graduating students should pay for the make-up fees and get the receipts before exams.

Final Make up time:  March 11-22, 2013
	Final make-up exams G2008
	
	
	

	1. Registration for Final Make-up:￥100 per subject; Students with leaving note needn't to pay for exams

	2. Anyone who absents for make-up exams is on one's own account;

	3. The results will be released on April 7, 2013.
	
	


Register for graduation

Here we list out the materials that you have to hand in to AOTU. Please wait for the notice from CIE for tuition, dorm and exam fees.

· Time: 2:00 pm, March 4, 2013.
· Place: the office locates on the 2nd floor of dorm No.400

To AOTU (international)

	1
	Clinical outline book

	1)
	Fill in the blanks on the cover- name, grade, no., period

	2)
	Paste your photo on the cover

	Note
	The result of department page without score and signature will be considered as 60

	2
	Certificate of Clerkship

	3
	Passport original


From AOTU (international)

	1
	Direction of Graduation exams

	2
	Check your info, full name, birthday, passport no., enrollment date 


Direction of graduation exam

· The graduation exams are composed of 2 parts- theory exam and practice exam. Theory exam includes 4 exams- Internal medicine, Surgery, Gynecology &Obstetrics and Pediatrics. Each exam has 50 single-choice questions of 5 types. The answers should be filled up on the answer sheet by pencil in 90 minutes (Please fill in the blanks on answer sheet carefully because the answers will be checked by the answer sheet reader machine). Practice exam is given as picking 1 out of 10 items. The aim of theory and practice exams is to inspect the internship quality. There is no reserve book.
· The results of theory exam are shown as one according to the ranks. The highest mark is 90. One position increases, one score is reduced. No. 1-90 marks, No.2- 89 marks and so on. If the last students get too low marks compared to others, they will be considered as unqualified and failed. These students have to redo the rotation with Grade 2009 in Shandong Provincial Hospital and come back for graduation exams again.
· The students who fail in graduation exam have to make-up for internship again and attend the graduation exam with next grade.
· All the students have to sign on the agreement of no cheating before graduation exam

	Exam date

　
	Clinical Knowledge
	Time
	Date
	Room

	1
	Internal Medicine
	9:00-10:30 am
	April 19, 2013
	2104/2105

	2
	Pediatrics
	9:00-10:30 am
	April 26, 2013
	2101

	3
	Surgery
	9:00-10:30 am
	May 3, 2013
	2104/2105

	4
	Gynecology & obstetrics
	9:00-10:30 am
	May 10, 2013
	2104/2105

	　
	Clinical Practice
	Time
	Date
	Room

	1
	Clinical practice
	8:30-11:30 am
	May 17, 2013
	No.4 Building


Indicator Statistics  
ⅠInternal Medicine, Ⅱ Pediatrics

(1) Distribution of sub discipline
	Title
	Value
	Percentage

	Internal Medicine

	Digestive system and poisoning  
	13
	21.7%

	Circulatory system
	12
	20.0%

	Respiratory system
	13
	21.7%

	Urinary system 
	6
	10.0%

	Hematological system
	8
	13.3%

	Endocrine system  and metabolic
	8
	13.3%

	Neurology division  
	0
	0%

	Total
	60
	100%

	Pediatrics

	Pediatric medicine
	100
	100%

	Total
	100
	100%


(2) Distribution of difficulty
	Title
	Value
	Percentage

	Easy
	6
	10.0%

	Comparatively easy 
	19
	31.7%

	Middle
	20
	33.3%

	Comparatively hard
	9
	15.0%

	Hard
	6
	10.0%

	Total
	60
	100%


(3) Distribution of type

	Title
	Value
	Percentage

	A1
	18
	30.0%

	A2
	8
	13.3%

	A3
	9
	15.0%

	A4
	12
	20.0%

	B1
	8
	13.3%

	B2
	5
	8.3%

	E2
	0
	0.0%

	E3
	0
	0.0%

	Total
	60
	100%


Ⅲ Surgery, ⅣGynecology & Obstetrics
(1) Distribution of sub discipline
	Title
	Value
	Percentage

	Surgery

	Surgery remarks
	10
	16.7%

	General surgery
	23
	38.3%

	Orthopedics 
	15
	25.0%

	Urologic surgery 
	5
	8.3%

	Thoracic surgery
	7
	11.7%

	Neuro surgery
	0
	0.0%

	Total
	60
	100%

	Gynecology & Obstetrics

	Gynecology
	30
	50%

	Obstetrics
	30
	50%

	Total
	60
	100%


(2) Distribution of difficulty
	Title
	Value
	Percentage

	Easy
	6
	10.0%

	Comparatively easy 
	18
	30.0%

	Middle
	21
	35.0%

	Comparatively hard
	8
	13.3%

	Hard
	7
	11.7%

	Total
	60
	100%


(3) Distribution of type

	Title
	Value
	Percentage

	A1
	17
	28.3%

	A2
	8
	13.3%

	A3
	11
	18.3%

	A4
	9
	15.0%

	B1
	9
	15.0%

	B2
	6
	10.0%

	E2
	0
	0.0%

	E3
	0
	0.0%

	Total
	60
	100%


Sample questions
ⅠInternal Medicine

Type A1 (Best choice-positive type)

Directions: Each question is expressed in positive form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].
———————————————————————————————————————
A patient with heart palpitations and shortness of breath came to hospital for treatment, which was diagnosed as rheumatic heart disease and mitral stenosis combined with aortic incompetence after heart auscultation. Which of the following symptoms conforms to the diagnosis?
A. systolic murmur at the apical area and diastolic murmur like splashing water at the aortic valve area
B. diastolic thunder-like murmur at the apical area and diastolic murmur like splashing water at the aortic valve area
C. opening snap at the apical area and systolic murmur at the aortic valve area
D. Austin-Flint murmur at the apical area and diastolic murmur like splashing water at the aortic valve area
E. systolic click at the apical area and diastolic murmur like splashing water at the aortic valve area
Type A2 (Best choice - negative type) 
Directions: Each question is expressed in negative form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ]

———————————————————————————————————————
A female patient, 24-year-old, was sent to hospital for coma. Physical examination: light coma with normal blood pressure and slow shallow respiration, tendon reflexes disappeared. Her family said that there was an empty drug bottle on the table at home. 
Which of the following treatments is NOT correct to the patient? 
A. elimination of the unabsorbed poisons 
B. nursing care for coma 
C. to maintain water and electrolyte balance 
D. Transfusion 
E. prevention of infection 
Type A3 (Best choice in case group)

Directions: Several question groups are given in this part. Each question group has a case description in common, which is followed by two or three questions related to the case. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————————————
[Group 1] 
A female patient, 25 years old, was found unconscious with an empty DDV bottles bedside the bed half an hour ago by her neighbor. Physical examination: deep coma, cool extremities, cyanotic lips, breathing frequency 30 times/min, the pupil diameter 1mm, unresponsive light reflex, mouth drooling with garlic taste, heart rate 100 beats/minute, BP11.7/9.1 kPa (90/70 mmHg), myofasciculi quiver. The primary diagnosis is DDV poisoning. 
At this time, removing the toxins are needed at the same time with supportive therapy, the method to remove toxins is: 
A. wash skin with soap and water 
B. gastric lavage with 2% sodium bicarbonate 
C. gastric lavage with 1:5000 potassium permanganate solution 
D. catharsis purgation with 50% magnesium sulfate
E. colon hydrotherapy with soap and water
The dose and usage of atropine is: 
A. intramuscular injection of 1- 2 mg/ 1- 2 h until the patient wakes up, and then delay the intervals of injections 
B. intravenous injection of 2 mg / 20 minutes until the mouth is dry

C. at first intravenous injection of 5 mg, and then continuous intravenous drip the 100ml solution with 10mg atropine in it for 24~ 72 hours or longer 
D. intravenous injection of 5-10 mg / 10- 15 minutes until mydriasis and facial flushing, and then delay the intervals between injection 
E. continuous intravenous drip of 0.1 mg / minute until mydriasis and facial flushing 
The usage and dose of Pralidoxime (PAM) is: 
A. at first intravenous injection of 0.5mg, and then continuous intravenous drip the 500 ml glucose solution with 1g PAM in it 
B. rapid intravenous drip of 100 ml glucose with 1mg PAM in it
C. This patient’ s condition is so severe that drugs are invalid, so there is no need of injection 
D. the application and adjustment the dosage should be based on whether the blood cholinesterase activity decreases
E. this drug should not be combined with atropine 
Type A4 (Best choice in case string)

Directions: Two question strings are given in this part. Each question string share the same case description, which is followed by four or more questions related to the case. As the question proceeds, additional information or hypothetic information that only applies to a certain question may appear. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

—————————————————————————————————————
[String 1: ] 
A male patient, 41 years old, often had weakness, dizziness and sweating sense 3-4 hours after meals in the past year, which can relieve after another meal. Height: 164cm, weight 78 kg. 
If his clinic tests are: urine glucose (+++), blood glucose 12 mmol/L. The diagnosis is: 

A. Hyperthyroidism 
B. Diabetes 
C. Obesity 
D. Islet β-cell tumor 
E. Peptic ulcer 
Which of the following history is most significant in determining the diagnosis? 
A. Family history of diabetes 
B. Alcohol History 
C. Smoking history 
D. Obesity 
E. Coronary Heart Disease 
If the blood glucose is 3.0-3.5 mmol/L when the disease attacks, what is the main mechanism of its symptoms: 
A. excessive glucose uptake and utilization 
B. excessive peripheral insulin receptors 
C. an increase in glucagon secretion 
D. the first-phase of insulin secretion delay
E. excessive gastrin secretion 
Type B1 (Best match type)

Directions: The group has 4 questions sharing the same options with five alternative answers marked A, B, C, D and E. Choose the most suitable one for each question and then mark the matching option on Answer Sheet with a black bold line through the [  ]. Each option may be chosen once, more than once or never.

———————————————————————————————————————
[Questions] 
A. esophageal variceal bleeding 
B. acute gastric mucosal lesion bleeding 
C. reflux esophagitis bleeding
D. stress ulcer bleeding 
E. peptic ulcer bleeding 
A male patient, 25 years old, had rhythmic pain in the right upper abdomen for three years, which could alleviate by eating and was accompanied by acid reflux. The pain suddenly worsened a week ago, accompanied by melena, 2-4 times/day. The patient's bleeding is most likely to be: 
A female patient, 64 years old, had sudden hematemesis yesterday due to eating too fast, approximately 800-1000ml, red, jet-like. Heart rate is 110 beats per min; BP is 13/6.5 kPa (90/50 mmHg). She had the history of chronic liver disease, and usually had hepatalgia accompanied by abdominal distention. The patient's bleeding is most likely to be: 
A female patient, 56 years old, had intermittent vague pain or discomfort in the upper abdominal more than 10 years. She once had cerebral infarction and hemiplegia last year. A week ago the abdominal pain worsened after taking aspirin. Yesterday he had two black stools. The patient's bleeding is most likely to be: 
A male patient, 52 years old, often had acid reflux, heartburn and retrosternal burning sensation for the past three years. In the last two days the symptoms worsened and he had four black stools. He had the history of esophageal hiatal hernia. The patient's bleeding is most likely to be:

ⅡSurgery

Type A1 (Best choice-positive type)

Directions: Each question is expressed in positive form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————————————
A 65-year-old male patient had high ligation and repairment of right inguinal hernia three years ago. He had reducible mass in right groin six months ago, which was diagnosed as a recurrent hernia, the best surgical method is: 
A. simple high ligation of hernia sac 
B. high ligation of hernia sac + Ferguson's repair method 
C. high ligation of hernia sac + Bassini's repair method 
D. high ligation of hernia sac + Halsted's repair method 
E. high ligation of hernia sac + McVay's repair method 
Type A2 (Best choice - negative type) 
Directions: Each question is expressed in negative form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ]

———————————————————————————————————————
A 42-year-old female textile worker, was diagnosed as primary hyperthyroidism, the basal metabolic rate is still +45% after medical treatment for one year. She is prepared for subtotal thyroidectomy. The following measures before the operation are right EXCEPT ___:  
A. perspective or photographs on the neck, to understand the tracheal displacement 

B. check the size, noise and rhythm of heart, and make ECG 
C. laryngoscopic examination to understand the vocal cords 
D. recheck basal metabolic rate to choose the opportunity of surgery 
E. puncture cytological examination to determine the pathological nature 
Type A3 (Best choice in case group)

Directions: Several question groups are given in this part. Each question group has a case description in common, which is followed by two or three questions related to the case. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————————————
[Group 1: questions] 
A 45-years-old female who had radical mastectomy 1 year ago, had intermittent thoracodorsal pain for two weeks, which can be relieved by Fenbid. Physical examination：tenderness of right vertebral muscle of T6-8, and mild tenderness of spinous process of T7; X-ray film: osteoporosis of thoracic vertebra.
The prior examination for this patient is:   
A. calcium and phosphorus of serum 
B. γ-bone scan of the total body 
C. regularly recheck chest and back 
D. bone densitometry of thoracic vertebra
E. CT or MRI of thoracic vertebra
The thoracodorsal pain aggravated, radiating to protothorax. There is a knocking pain at T9, and X-ray film showed a patchy osteolytic destruction at T7. The measure should be taken first is: 
A. be equipped with a plastic vest, to avoid paraplegia caused by pathological fracture of the spinal column   
B. palliative surgery according to metastatic carcinoma  
C. chemotherapy and radiotherapy  
D. be strictly confined to bed for preoperative preparations
E. massage  

The final diagnosis is breast cancer metastasis to T7, and the patient has dyschesia, dysuria, and weakness of lower limbs. The measure should be taken first is: 

A. chemotherapy and radiotherapy   
B. strictly confined to bed 
C. decompression of spinal cord and internal fixation 
D. palliative care 
E. Chinese herbal therapy  
Type A4 (Best choice in case string)

Directions: One question string was given in this part. All questions in this string share the same case description, which is followed by four or more questions related to the case. As the question proceeds, additional information or hypothetic information that only applies to a certain question may appear. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

—————————————————————————————————————
[String: questions]
A 35-year-old male patient, having one child after marriage, had dysfunction in erection of penis for one year.
The emphasis of physical examination in diagnosis of impotence is:   
A. nervous system 
B. genitalia 
C. physiological reflex 
D. chest and abdomen 
E. limbs 
The most simple and helpful diagnostic method to diagnose vascular impotence is:  
A. papaverine erection test and saline infusion test  
B. angiography 
C. Doppler examination 
D. the ratio index of blood pressure between dorsal artery of penis and brachial artery 
E. Stamp Test 
The diagnosis of venous impotence should be: 
A. papaverine test (+),the ratio index of blood pressure between dorsal artery of penis and brachial artery (PBI) <0.6, saline passive erection test (+)  
B. papaverine test (+), PBI >0.6, saline passive erection test (+) 
C. papaverine test (+), PBI <0.6, saline passive erection test (-)  
D. papaverine test (-), PBI <0.6, saline passive erection test (-)  
E. papaverine test (-), PBI <0.6, saline passive erection test (+) 
Treatment principle of venous impotence is:  
A. long-term use of afrodyn  
B. physical therapy for two course of treatment   
C. ligate the fistula of veins 
D. take methyl testosterone orally for two months 
E. chemical prosthesis treatment for two weeks  
Type B1 (Best match type)

Directions: The group has 3 questions sharing the same options with five alternative answers marked A, B, C, D and E. Choose the most suitable one for each question and then mark the matching option on Answer Sheet with a black bold line through the [  ]. Each option may be chosen once, more than once or never.

———————————————————————————————————————
[Questions] 
Common liver disease in department of surgery
A. hepatic hydatidosis 
B. abscess of liver 
C. cirrhosis complicated with portal hypertension
D. primary liver cancer   
E. secondary liver cancer 
A 49-year-old woman had pain in right upper abdomen, decreased appetite, fatigue, and abdominal distension recently. Medical examination: hepatomegaly  

A 40-year-old man was found a-FP: 5000ng/ml in health screening, 
A 30-year-old man was found a mass with a smooth surface in right upper abdomen for five years, and the mass became bigger gradually. 

Ⅲ Gynecology & Obstetrics

Type A1 (Best choice-positive type)

Directions: Each question is expressed in positive form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————
A 25-year-old pregnant woman, pregnant for 8 months., got acute hepatitis B in recent days, and was very anxious that her baby was also infected, so she comes for consulting what is the probability of maternal and child vertical transmission? 
A. 70% 
B. 50% 
C. 30% 
D. 25% 
E. 0% 
Type A2 (Best choice - negative type) 
Directions: Each question is expressed in negative form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————
Endometriosis is a benign lesion, but it has distant metastasis and planting capacity. On its pathogenesis, which of the following theories is NOT related to the disease? 
A. transplantation theory 
B. coelomic epithelial metaplasia theory 
C. theory of lymphatic and venous spreading 
D. immune theory 
E. theory of long-term estrogen stimulation
Type A3 (Best choice in case group)

Directions: Several question groups are given in this part. Each question group has a case description in common, which is followed by two or three questions related to the case. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————
[Group 1: questions]
A 45-year-old woman came to hospital because of sudden hemiparesis and vaginal bleeding. Physical examination: uterus enlarged as a 6-mouth gestation, a cyst (8cm) touched on the right annex, purple nodule (2cm) on the vaginal wall, serum β-HCG> 1250IU / L. Chest X-ray: a shadow (2cm) in the upper lobe of left lung, BP 16/10kPa (120/75mmHg), normal liver function, and CT indicated the diagnosis of intracranial tumors. 
In order to make definite diagnosis, which set of history we should focus on asking? 
A. Hypertension history 
B. Menstruation pregnancy and delivery history 
C. Family genetic history 
D. History of infectious diseases 
E. Malignant tumor history 
Which is the most important factor that affects the prognosis of patient’s life? 
A. vaginal metastatic nodules 
B. ovarian luteinized cyst 
C. lung metastasis 
D. brain metastasis 
E. hemiplegia 
The specific monitoring indicator that confirms the diagnosis and evaluate prognosis is: 
A. β-hCG 
B. liver function
C. type-B ultrasonic 
D. ECG 
E. CT 
Type A4 (Best choice in case string)

Directions: Two question strings are given in this part. Each question string share the same case description, which is followed by four or more questions related to the case. As the question proceeds, additional information or hypothetic information that only applies to a certain question may appear. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————

[String1: questions]
A primipara, now pregnant for 38 weeks, had lower extremity edema, headache, vertigo, blurred vision in the last week. She was sent to hospital for convulsions for 2 times this morning at home. Examination: blood pressure 26/16kPa (195/120mmHg), drowsiness, urine protein (++), edema (++++), fetal presentation: cephalic presentation, good fetal heart sound. 
The most likely diagnosis is 
A. Primary hypertension 
B. Chronic nephritis 
C. Antepartum eclampsia 
D. Pre-eclampsia 
E. Epilepsy 
The basic pathological changes of the disease is: 

A. hypertension 
B. anasarca 
C. systemic small artery spasm 
D. water-sodium retention
E. reduction in glomerular filtration 
The correct treatment to the patient should be: 
A. an immediate cesarean section 
B. termination of pregnancy after active treatment for a week 
C. cesarean section 6-8 hours after convulsion control 
D. active treatment and waiting for a spontaneous delivery 
E. an immediate artificial rupture of membrane, and intravenous oxytocin 
Type B1 (Best match type)

Directions: The group has 3 questions sharing the same options with five alternative answers marked A, B, C, D and E. Choose the most suitable one for each question and then mark the matching option on Answer Sheet with a black bold line through the [  ]. Each option may be chosen once, more than once or never.

———————————————————————————————
[Questions] 
A. Determination of serum human chorionic gonadotropin (HCG) 
B. Determination of urine pregnanediol - 
C. Determination of serum placental lactogen 
D. Determination of serum estradiol 
E. Determination of serum AFP 
Which examination should be selected for the following cases?
A pregnant woman in first trimester had two abortions before. Now she has a little vaginal bleeding, all of the above-mentioned determinations help to confirm whether there is another abortion except______?

A female, pregnant for 36 weeks, had a history of fetal death, and now she feels that fetal movement weakens again. Which is the first choice for judging the prognosis? 
A 28-year-old woman had recurrent early abortion three times. Which of the following examinations will help to identify the reasons for abortion?

Ⅳ Pediatrics

Type A1 (Best choice-positive type)

Directions: Each question is expressed in positive form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

———————————————————————————————— 
A 10-month-old baby had pale face, poor appetite, hidrosis and laziness to move for a month. Physical examination: pale skin and mucus, heart rate: 130/min, liver 3cm below the right costal margin and spleen just below the left costal margin. Hb: 70g / L, RBC: 3.5 × 1012/ L, MCV: 74fl (μm3 ), MCHC: 30%. The most appropriate treatment is:  
A. chalybeate injection + high-protein diet for 1 month 
B. ferrous gluconate injection + Vitamin B for 1 month 
C. Ferrous sulfate injection + folic acid for 3 weeks 
D. Ferrous sulfate injection + vitamin C for 2 months 
E. ferrous sulfate injection + vitamin B for 4 weeks 
Type A2 (Best choice - negative type) 
Directions: Each question is expressed in negative form with five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].
——————————————————————————————
A newborn infant was born with precipitate delivery in the 36+5 week. Apgar score: 7 points, had restless, fantod, systemic spasm and bulge of the anterior fontanelle 24 hours after birth. Which is NOT related to the development of disease: 
A. history of fetal distress 
B. history of perinatal asphyxia 
C. insufficiency of blood coagulation factors 
D. history of precipitate delivery 
E. poor function of neonatal blood-brain barrier 
Type A3 (Best choice in case group)

Directions: Three question groups are given in this part. Each question group has a case description in common, which is followed by two or three questions related to the case. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

——————————————————————————————————————
[Group 1：questions  
A 8-month-old infant was admitted to hospital due to bronchial pneumonia and heart failure. The patient suddenly had convulsions 10 minutes after using strophanthin K, which lasted only 1-2 minutes, blood calcium: 1.8mmol / L 
The best treatment is: 
A. Vit D3 300000u i.m. 
B. 20% mannitol i.v.drip
C. 10% calcium gluconate i.v.drop at once 
D. 10% calcium gluconate i.v.drop 4 hours later
E. 10% calcium gluconate i.v.drop 24 hours later

After emergency treatment, his condition improved. Which one is correct about the prognosis of the child?   
A. will have repeated convulsions in the future  
B. will remain chronic heart failure 
C. be liable to bronchial asthma 
D. may have sequelae of the nervous system  
E. prognosis is good 
The physical examination after admission showed that auscultation of heart and lung is normal. Which one is wrong about the prevention of pneumonia relapse?

A. breastfeeding, pay attention to nutrition 
B. vaccination on time    
C. pay attention to the prevention of common cold
D. intermittently take antibiotics 
E. do more exercise and more exposure to sunlight
Type A4 (Best choice in case string)

Directions: Two strings are given in this part. Each string share the same case description, which is followed by four or more questions related to the case. As the question proceeds, additional information or hypothetic information that only applies to a certain question may appear. Every question has five alternative answers marked A, B, C, D and E. Choose the most suitable one and then mark the matching option on Answer Sheet with a black bold line through the [  ].

——————————————————————————————————
[String 1: questions] 
A 6-year-old boy was sent to emergency room because of fever and diarrhea for three days. Two days before admission, he had sudden fever in the early morning, and vomited twice in the afternoon, then watery diarrhea 5-6 times. On the second day, fever and vomiting stopped, but diarrhea frequency increased to more than 10 times / day, urine output decreased, body temperature 38.8 ℃, listless, depression in anterior fontanel and orbit, fewer tears, pharynx slightly congestive, normal heart and lung function and decreased skin elasticity.  
The most likely diagnosis is: 
A. pneumonia + parenteral infection 
B. acute gastroenteritis 
C. bacillary dysentery 
D. viral enteritis 
E. enteropathogenic e.coli enteritis 

The total amount and osmotic pressure of fluid replacement for the child on the first day are:
A.60-80ml/kg, 1 / 2 of plasma osmotic pressure 
B.90-120ml/kg, 2 / 3 of plasma osmotic pressure  
C.120-150ml/kg, 1 / 2 of plasma osmotic pressure 
D.150-180ml/kg, 2 / 3 of plasma osmotic pressure
E.180-200ml/kg, 1 / 2 of plasma osmotic pressure 


On the first day’s evening after admission, he had urine twice and watery diarrhea three times. At midnight, he had sudden systemic convulsions. Which should be considered as the reason of the disease? 
A. hyponatremia 
B. hypocalcemia 
C. hypokalemia 
D. hypomagnesemia 
E. hypoglycemia 

On the second day of admission, the dehydration was corrected, the feces reduced to 3-4 times / day, and he had urine, no vomiting and poor appetite. What is the principle of fluid replacement: 
A. oral rehydration salts(ORS) instead of infusion 
B. supply the amount of continued loss 
C. only supply the amount of physical needs 
D. physical needs + continued loss
E. diet adjustment and rice soup feeding 

Type B1 (Best match type)

Directions: The group has 3 questions sharing the same options with five alternative answers marked A, B, C, D and E. Choose the most suitable one for each question and then mark the matching option on Answer Sheet with a black bold line through the [  ]. Each option may be chosen once, more than once or never.
————————————————————————————————
[Questions] 
A. Embrace (Moro) reflex 
B. Babinski sign 
C. Rooting reflex 
D. Abdominal reflex 
E. Grasp reflex 
A newborn, G1P1, with full term and spontaneous delivery. Apgar score was 9 points and birth weight was 3kg, He eat well after birth, but he had jaundice 3 days later, and 10 days later the total bilirubin was 120μg / L. which of the above reflexes is NOT stable?
A child, 1 year and a half, with full term and spontaneous delivery, could walk and call father/mother when he was 1 years old. Now he can walk on his own, and the weight is 10kg, body length 78cm and head circumference 48cm. The psychomotor development is normal. Which of the above reflexes is positive but has no clinic pathological significance to the disease?

A 4-year-old child with normal growth and development, weight 15kg, height 95cm, head circumference 50cm, and chest circumference 53cm. He could speak and walk when he was 1 years old, and now he can sing, climb leaders, wear shoes by himself, draw pictures and be good at asking questions. Which of the above reflexes is positive but has no clinic pathological significance to the disease?

Sample of answer sheet

· 2B pencil, eraser and ruler are necessary
· Please fill the [  ] carefully. The line is too light, too heavy, or nonstandard; answer sheet is folded, soiled or teared cannot be recognized by the reader machine. 
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4th scholarship ceremony

Courses: 17   for Year 2011 
Nuclear Medicine, Medical Imaging, Psychiatry, Diagnostics, Health Law, Infectious Diseases, Operatology, Preventive Medicine; Neurology, Ophthalmology, ENT, Dermatology, Gynecology & Obstetrics, Tropical Medicine, Pediatrics, Internal Medicine, Surgery 
Time: Mid of May, 2013 (seeing further notice)
Place: Ceremony hall, 3rd floor Building complex, Baotu spring (west) campus
Awards: Scholarship, Excellent CR, Excellent Graduate, Perfect Attendance (none, because of no record)
· The scholarship will be awarded with junior grades by Vice Dean Prof. Gaopeng from SOM
· The scholarship winners are selected according to the sequence of the total scores of 16 courses.

· The students who make up exams for fail, sick leave, re-study, promotion and so on will get the position number but can’t be awarded scholarship.

· The name lists will be shown as public scrutiny on website before ceremony.

Graduation ceremony

Time: June-July, 2013
      Please see further notice from CIE
Graduation files

From AOTU (international)

List

· Graduation transcript (please check the draft before official printing)

· Certificate of Clinical Rotation
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